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B BRI (REUXANL/SXIR)
ol siEze (SH9): &)
- _ _ HEAS
S - ZH - SRA(SIH) - HIRAY - BaS il ko S nion HlmE2
ot 21,751,614 16,405,363 6,346,251
= 4,972,500
Al 16,779,114
SHE R (FELTISINL/=XIR) 9,258,762 6,169,250 3,089,512
= 4,830,000
Al 4,428,762
staze 9,258,762 6,169,250 3,089,512
= 4,830,000
Al 4,428,762
NP 2,022,700 1,846,500 176,200
401 AlBILSChY| 2,022,700 1,846,500 176,200
01 A&t 2,018,884 1,838,760 180, 124
0240 HE ST +H=PIA
1,000,002 * 160m * 99.28/100 158,848
ONE, ZoHd BB 4D +H=SPIA
150,000,002 * 141 * 99.28/100 148,920
OS481 HE YFLBA 01 HAS0 40
=DM 1,000,002 * 80m * 99.10/100 79,280
O, GAH B2 M +H=PIA
00,0002 * 30m + 98.92/100 29,676
O#E0 S@ NSK ISR JHIBA
1,000,002 * 50m 50,000
OSF 0fRI0] SS0IAIE E485E SXTA
500,002 * 100m * 98.92/100 49,460
ONE AIEES JHS4BA
10,000,008 * 109 100,000
OLeE A2 HELBA
10,000,002 * 54 50,000
ONE HEd 2T 9 IS 24
2,500,002 * 5% * 13l 12,500
OSSE =T 0I3Y P43
30,000,008 * 14! 30,000
OJIE1R 317 JISE N4 DT DIUZA
20,000,008 * 14! 20,000
ONMB(MED-BED) X315 22l L MEEY
30,000,008 * 43! 120,000
ONE 4uiamel x5z 22| ¥ xS
5,000,008 * 43! 60,000
OZH MEIBY X518 22l ¥ NEXY
20,000,008 * 33l 60,000
OME £X Z3t8 HABA
200,000,008 * 14! 200,000
OFD(ME, SAH) &1 % i
3,500,0002 * 13| * 62 21,000
OXlgrod TaHABIXIR 2324
5,000,002 * 102 150,000




A ot
. St (ZELXSINL/=XHA)
oel stz (e &)
S - HZH . CI-_?_|(§D1|) - HIEAIY - A= Of| AFOH AT Hm=2
- o= - S &= 0:"&.0_‘” US55
OXgotd oraEEl HHILXHSH)
800,000 * 4CH * 25002 80,000
OXlgotad 239X HHIXt
300,000& = 3CH » 102l 9,000
OME & LI ohd AIZS(FI|,01H) 22|
=29 200,000& * 1200& » 3IHL 7,200
ON2It2w~st8w NLEZ SELHIAL
(F=0IZO{ 01l AF) 350,000& = 1,200m 420,000
OMHEER OIABHE BLBAHFOUIEO0IAL)
100,000,000& * 14! 100,000
ONMEEX L 8IXl & =58 SXISAHF2
ZO{0A) 3,300,000 * 10002 33,000
OAI2l &3t B0 EXI ZHAE (F2IE0
Ol &F) 30,000,000& = 1A 30,000
03 AIES0HdI 3,816 7,740 A3,924
0248 & SBH +H=2TA
1,000,000& * 160m * 0.72/100 1,152
ON, ZH SRS 4D +H=TSA
150,000,000 * 1A « 0.72/100 1,080
O+ N& I==AYM ot M350t =0l
SRZA 1,000,000& = 80m * 0.90/100 720
O3HH, S8 &8FF MY o= 3A
1,000,000& = 30m = 1.08/100 324
O2F 0{20] SS0IAIE 2SS LX2A
500,000& * 100m = 1.08/100 540
SIEAIEE 2l 106, 199 155,771 A49,572
101 C124b| 11,725 79,528 A67,803
04 JIZtHIZ2 2R SE= 11,725 79,528 A67,803
Ogeid £xl &Ci2el 212
73,2802 » 8% » 20 11,725
201 L2 3| 86,590 66,510 20,080
01 Ar2teldl 32,950 32,070 880
OJI=XtERs 19,000
—2R3 H&E 70,000& = 10 = 103/ 7,000
—AA Aol 30,000& = 10 * 102l 3,000
—2& A0 90,0002 = 108 * 103 9,000
OHABAL JOIEATZ2E 22
70,000& * 2% = 103 1,400
O&As &M Pl 900
—HESH 2 Adae| ARXE
60,000& » 5 300
—HETMN 0 50,000& * 128 600
O&H 2 2D Z23 SN2+
600,000& * 34 1,800
OeNHARY M M 20,0002 » 2002 4,000
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T2 GIEBRI(RERXANL/ATE)
ol siEze (EH9l: @2)
- _ _ HEAS
S - ZH - SRA(SIH) - HIRAY - BaS il ko S nion HlmE2
OJIER2HE] S50 M
60,0002 * 103l 600
OAtR! 2RHEOI 28K K% 4,008 * 6005 2,400
OABHE 2|23 2,850
—9IR3| BHLY 70,0002 * 5% * 331 1,050
—AR Alol4g 30,0002 * 5% * 33l 450
—SI2 A0 90,0002 * 5% * 33l 1,350
02 22| 53,640 34,440 9,200
ONE Lid =1 29 ®)|93
2,200,002 + 122 26,400
O2)| 2#N8 22D 2 ®I|23
300,0002! + 122 3.600
ONE LId JiS2 29 M|
350,0002! + 122 4,200
OANPISSE, UM 2T M54R3
500,008 * 122 6,000
ONBZZ F)|&l HEBRIHY 442
120,002 * 128 1,440
ONE Laid Zx FAoy|
2,000,002 * 32 6,000
ozga0I70l I, WXl 42
1,000,008 * 3% * 23l 6.000
206 THEH| 7,884 9,733 A1,849
01 HEH] 7,884 9,733 A1,849
OxZBRAWE P 2,520
] 8,002 * 70% * 23] 1,120
—&ly| 20,0002 * 7€ 18] 1,400
Ostz 2 10,0002 * 3% * 70% 2,100
OXzR 2 20,0002 * 55 + 79} 700
orCIZ0l REH 2,564
—52e 15902 * 4204 * 38 2,004
—oizIeY 3,5002 * 204 * 8% 560
YFEENS AILE BRI 229,863 916,979 £687,116
101 2I21b| 0,992 10,464 508
USIEEEDU=T=ES 0,992 10,464 528
OYxEs 20122 &0 U sEA 22 sy
73,2802 * 10Z * 152 10,992
201 Yr2| 45,580 53,150 AT,570
01 AFR 22l 300 1,000 AT00
O2BT4 HHE2(S0I2 132)
30,0002 * 141 300
02 22| 45,280 52,150 26,870
OYF5 801223 ®II23
400,008 * 122 4,800
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ool sl (Erol: &)
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
Og9Fs E2E=EX M2
2,300,000& = 10& 23,000
Og=d d=& MRS 150,000& * 12& 1,800
OPFY BUT 27| ®I23
100,0008 = 12&€ 1,200
ONAH2E SHEA M2 100,000& * 1228 1,200
OZ0IR32 =X & &IIe3
100,000& * 128 1,200
OCCTVEAIRZ (201721, SEEL, M=
70,0002 = 4044 = 12€ 3,360
O20I228 9 ®IIAIL oEz2| (aissa
110,000 * 1J0HA = 128 1,320
OY=t MUU(SLI]) AHBAF L SXE%
=== 250,000 = 12& 3,000
OBIZZR BUS 2 NG 24 % 42
1,000,000 * 43| 4,000
OZ20tI23& 0l=J| =2yl 200,000 = 23| 400
206 MZH| 3,291 3,365 NT4
01 =8I 3,291 3,365 NT4
O3 SIS F2e M2 2,600
—Hl27¢ 5,000& * 100 * 23] 1,000
—Eg|H| 200,000 * 4E x 23] 1,600
OfFUH(3LR) 1,590 = 204 * 68 191
Ou=D| =2 BE(dY 5) ¢
50,000& = 294 100
OZ23U st&al X 2 100,000 * 44 400
401 AlEH|L 204 170,000 850,000 680,000
01 Al&BI 170,000 845,590 675,590
OB0I23%, HEE, 9x5 SYEL S
AEE X2t 30,000,000& * 14! 30,000
Os%n 2 20/ g oHNEH 24
20,000,000 * 2JHA 40,000
OY==H FH AlES & ZAH
100,000,000 = 14! 100,000
(Z)KLOIEEH(MAA, SH) (HEAIY) 4,400,000 3,000,000 1,400,000
= 3,520,000
Al 880,000
401 AlEH|LL0HY] 4,400,000 3,000,000 1,400,000
= 3,520,000
Al 880,000
01 Al&BI 3,989,200 2,690,280 1,298,920
O=H KT o= THOH I A
4,000,000,000& = 99.73/100 3,989,200
& 3,520,000
Al 469,200
02 22|l 400,000 300,000 100,000




ot ot
SHE 212 (RELXIHIHL /2 KIR)
stzizel (EHol: =)
- _ _ HEAS
S - ZH - SRA(SIH) - HIRAY - BaS il ko S nion HlmE2
OZANT ok Mol I ArS
400,000,0002! * 14! 400,000
03 Al CHY| 10,800 9,720 1,080
OS AT oHE ol ol At
4,000,000,0002! * 0.27/100 10,800
(S)YTE OSHRT TAA(HEAR) 2,500,000 0 2,500,000
= 1,310,000
Al 1,190,000
401 AlZHIL 2T 2,500,000 0 2,500,000
= 1,310,000
Al 1,190,000
01 Al&H 2,493,750 0 2,493,750
OYFEY OSHRH B2 TLA
2,500,000,0002! * 99.75/100 2,498,750
= 1,310,000
Al 1,183,750
03 Al SCHY| 6,250 0 6,250
OYFL O{SHIR 22 ZH A
2,500,000,0002! * 0.25/100 6,250
THoH2I2) (BBEALOHE /T - BIS) 12,018,700 9,138,085 2,880,645
< 142,500
Al 11,876,200
R 12,018,700 9,138,055 2,880,645
< 142,500
Al 11,876,200
AGHE I EAAIY 3,278,000 2,571,160 706,840
401 Al SHI L= 3,278,000 2,545,000 733,000
01 A& 3,258,056 2,529,700 728,356
O£5H FH| 3,028,056
—ABHE(19804) SxI=2
1,000,0002 * 300km 300,000
—AGH MHIBXIT 24
40,000,0009! * 7744 280,000
—AGH GHAE| 2,000,000 * 50k 100,000
—ALASIA ALE ST
50,0002 * 2,400m 120,000
—2)IS 0122 2A0IZAGHE FUIZA
500,0002 * 200m * 99.10/100 99,100
—2)| Wa2e| WASATHE FUIBA
1,000,002 * 160m * 99.28/100 158,848
—0lAet Ba22] LHHASBHR FHIZAL
400,000 * 200m * 99.10/100 79,280
—0lAY AIF2R| MEHABHE FHIZAL
500,0002 * 220m * 99.28/100 109,208
—0l4tet 2212] 4220k HHIZAL
30,0002 * 200m * 99.10/100 65,406




S Bt
Ha: THoh Rl (BDEAMLHE/THHLTH - 12r9)
ool IR (Sl @
- _ _ poIE [=
SA - HH - SAGEH) - HRAY - BAS ofl sty e HIDS2
—OIAFel N=22] 01451 EBI=Al
500,002 * 200m * 99.10/100 99,100
—B20 2200| LEAGE FUIBA
500,000 * 200m * 99.10/100 99,100
—Hop M=0| UBSH HHIZA
500,000 * 120m * 99.10/100 59,460
— 2401 (22| ZHRASHE FHIBAI
400,002 * 250n * 99.10/100 99,100
—2401 TH2l ZHRASHE FUIBAL
600,002 * 100m * 99.10/100 59,460
— R0 BI02] HUAGHE FUIBAL
500,002 * 150m * 99.10/100 74,325
—TA0 SF12| FIR LR YA ZUIBA
400,002 * 230n * 99.10/100 91,172
— R0 AB32| ABASHE FHIBAL
1,000,0002 * 170m * 99.28/100 168,776
—QHEP OIS 12| BETAGHE FHIBA
850,002 * 200m * 99.28/100 168,776
—ObHO! YRR SXZASE HHIZAI
1,000,002 * 80m * 99.10/100 79,280
—OHHDO! 24122] AHASIE FHIZAI
500,002 * 200m * 99.10/100 99,100
—=80 |32l W0l A5 ZHIBA
800,002 * 100m * 99.10/100 79,280
—280 LX)l U2 A5 FHIBAI
500,000 * 120m * 99.10/100 59,460
—2E0 SAR| ADIASIE HHIZA
600,002 * 50m 30,000
—+E201 cipio] SEAGHE ZUIBA
400,002 * 250n * 99.10/100 99,100
—&E20 EYE2) BHEAGHE FUIBA
500,002 * 300m * 99.28/100 148,920
—&20 EIE3R| BEASHE FUIBA
500,000 * 100m * 98.92/100 49,460
—CHAIS DFRtRl DIHE SHIZA
500,000 * 140m * 99.10/100 69,370
—CHHR! ThAR] ZHDIA HUIZA
500,002 * 100m * 98.92/100 49,460
—EHIB PR2| A0ISE FHITA
400,002 * 100 40,000
—2A0 B12] BOI9IAGHE FHIBA
375,002 * 240m * 99.10/100 89,190
—S401 So100| BUAGHE FHIBAL
375,000 * 200m * 99.10/100 74,325
— AU 65 ABLGHE ZUIBA
300,002 * 100m 30,000
OAYH AH2 FOEY L B S £X(F2
a0{0f41) 30,000,000 * 14! 30,000
03 Al&=2CHE| 19,944 15,300 4,644
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Zo: T2
9l ote

% 5 _ PSIE =
S - B - S9(3) - HIRAY - BES il &y e

OESSEET 19,944
~2JIg 0IZ2l QA0IBAGHE HHIZAF
500,002 * 200m * 0.90/100 90
—2I|S #ARe| WASAGHE FHIBAL
1,000,008 * 160m * 0.72/100 1,162
22| LHOHABHE HUIBA
400,002 * 200m * 0.90/100 720
—0lART AIF22] MoHAGHE FHITA
500,002 * 220m * 0.72/100 7%
ASAGHE HHIZA
330,000 + 200m + 0.90/100 504
—0lARt RIS22] 01 AGHE HHIBA
500,002 * 200m * 0.90/100 90
—B20 2202 ZEAGHE FHIBA
500,002 * 200m * 0.90/100 90
—B2o d=0e| YA JUITA
500,002 * 120m * 0.90/100 540
—240 (12| THRAGHE FHIBA
400,002 * 250m * 0.90/100 90
—2401 ZH2l TH2AGH ZHIZA
600,002 * 100m * 0.90/100 540
— 40 Br02| HUAGHE MHIBAF
500,002 * 150m * 0.90/100 675
FIX| LB HLATHE FHIBA
400,002 * 230m * 0.90/100 828
—TA0 AB3E| ABAGHE FUITA
00,0002 * 170m * 0.72/100 1,224
—OrNE! 0S12] SRBAGHE FHIBA
850,002 * 200m * 0.72/100 1,224
—oIO URE| SXIBLGHE HHITA
1,000,002 * 80m * 0.90/100 720
—OHEDI B42] AHIASIE FHIBA
500,002 * 200m * 0.90/100 90
—280 28| W0l A5 ZHITA
800,002 * 100m * 0.90/100 720
—=80 32| CIH2 26K ZHIZA
500,002 * 120m * 0.90/100 540
—&S0 ClBie] UL FHIBA

=

400,000& * 250m = 0.90/100 900

—=&8H &2l e aotd FHISA
500,000 * 300m = 0.72/100 1,080

—=&0 Ei&3c| e Aot HHISA
500,000 * 100m * 1.08/100 540

—CHAHE Ot=tel OFEtE ZHISAF
500,000& * 140m = 0.90/100 630

— GO MAe| DRI HUISAH
500,000& * 100m = 1.08/100 540

SAE 2H12| ZHtRIA0HE ZHISAL

375,000& * 240m * 0.90/100 810
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S48 220| A0 HISA
375,000& * 200m * 0.90/100 675
NIEIHE=AL 2,255,700 1,594,892 660,808
401 AIZHIZL S0 2,255,700 1,594,892 660,808
01 Al€H] 2,246,952 1,588,772 658, 180
OMIEEHI 2,246,952
—HIE |2 1,000,000& * 200km 200,000
—AME Mo+ 22
15,000,000 * 10942 150,000
—N& olatEHl 2,000,000& * 50km 100,000
—AESSAIE A 2 U E ~EEY
340,700,000& * 14| 340,700
—0l&H Je| stdE N HHISA
300,000& * 200m * 99.10/100 59,460
—0laH JMA1E] H2EdE N JHISA
500,000& * 100m * 98.92/100 49,460
—g2% Sg22| A& 212 M ZUISAL
500,000& * 110m = 99.10/100 54,505
—g2% ISl &7 ME ZHISA
500,000 * 130m = 99.10/100 64,415
—g=28 X=1el N=xusl & A& ZUISAH
500,000 * 90m 45,000
—E2a0 org2e] 201 KA ZBISA
275,0008 * 200m * 99.10/100 54,505
—=2+% A4 LEg= ME ZUISA
200,000& = 200m 40,000
—=2==0 f22el 2= HE ZHISA
200,000& * 200m 40,000
—EH A2l AtAlZ HIE ZHISA
250,0002 * 400m = 99.10/100 99,100
—oHEH il Maz A& ZHISA
425,000 * 200m = 99.10/100 84,235
—S8d X222 AFERIiE A& ZHISA
400,000& * 150m = 99.10/100 59,460
—=8Y 212l NE ZBISA
400,000 * 250m * 99.10/100 99,100
—=89 U=22 S8 MAE JHISA
320,000& * 250m * 99.10/100 79,280
—&=8Y HEdl dEA ME ZHISA
350,000& * 200m * 99.10/100 69,370
—EHAHE HAe| NIE EHISA
280,000& = 250m * 99.10/100 69,370
—ChaH Ol ME ZUISAL
400,000& * 100m 40,000
—ERHE HAMC| SE= ME HISA
500,000 * 100m = 98.92/100 49,460
—42S 58 LEZ= NE ZHISA
400,000& * 100m 40,000




S SHED
HE: THohRrel (BBEALOF/ T - 2129)
ol SHEEY) (242 &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
—£31S P4 NMF SUISA
400,0002! * 100m 40,000
—AES 634-981K 2R NF ZHITA
260,0002! * 200m * 99.10/100 51,532
—DEE ME-1P1K LR NIF ZHIBA
260,0002! * 150 39,000
—OLXIS 465¥1K L8 HIE HHIZAF
290,000 * 100m 29,000
—2)Ig 22| B2 NI@ FHIBA
200,000,008 * 141 200,000
03 Al CHY| 8,748 6,120 2,628
OMEZH| 8,748
—0lAtt 2| BB M@ FHITA
300,0002! * 200m * 0.90/100 540
—0lAEt AIF12] ASLHB ME HUIBA
500,0002! * 100m * 1.08/100 540
—Eeo g2 MK Q12 ME MUIBA
500,0002! * 110m * 0.90/100 495
—moo U1l YR HE FHIBA
500,000 * 130m * 0.90/100 585
— 2401 BrI22| 2301 MIE ZHIZA
275,0002! * 200m * 0.90/100 495
—QIED QAM2| AAIZ AIE FHIZA
250,000 + 400m * 0.90/100 900
—OHB BAHR| HIAB NIE FHIZA
425,0002! * 200m * 0.90/100 765
—23 SH2| ASTHB ME FHIZA
400,0002! * 150m * 0.90/100 540
—&=23 P12 HE ZUIBA
400,0002! * 250m * 0.90/100 90
—=E0 L502] £ NI@ ZHIBA
320,002 * 250m * 0.90/100 720
—=20 S| A AIE ZHIBA
350,0002 * 200m * 0.90/100 630
—CHAB AR KIE A
280,002 + 250m * 0.90/100 630
—CHAEt FME] SEB M@ FHIBA
500,000 * 100m * 1.08/100 540
—AES 63901 LR NIF ZHIBA
260,002 * 200m * 0.90/100 468
AGHE I (M2) (MEAI) 6,200,000 4,912,003 1,287,997
401 AlZHIL 2T 6,200,000 4,912,003 1,287,997
01 Al 6,177,680 4,894,318 1,283,362
OZSAGHE HHIZAL
2,400,000,0002 * 14! * 99.64/100 2,391,360
OZYAGHE HBIZA
2,000,000,0002 * 14! « 99.64/100 1,992,800
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M THol 22 (SSEMUHM /TN - 21e])
o2l St EH] (el &)
i _ _ AT
SA - ZH - AA(3) - MIRAY - BHAS Ol &k OH 01l AkoH Hns2
O2245td FHIZA
1,800,000,00091 = 14 * 99.64/100 1,793,520
03 Al 22,320 17,685 4,635
Osaotd HUISAH
2,400,000,0008 * 14! % 0.36/100 8,640
OS2AGHE FHISA
2,000,000,00084 = 14! * 0.36/100 7,200
O2ZA0td FHISA
1,800,000,0008 * 14! * 0.36/100 6,480
(E)AGHIEHI AR (A4S 255,000 60,000 195,000
= 127,500
Al 127,500
401 Al&HIL 201 255,000 60,000 195,000
= 127,500
Al 127,500
01 AI&HI 255,000 60,000 195,000
OO0|4&HH SA22| LHOHAGHE HUIS At
450,000€! * 100m 45,000
= 22,500
Al 22,500
O&=0 d=12] 0= HHEHAGH ZHIZSA
500,000 * 200m 100,000
= 50,000
Al 50,000
OtHatH &h=312| ergActE IS At
550,000 * 200m 110,000
= 55,000
Al 55,000
(D)ADIES F=0SIIAY 30,000 0 30,000
= 15,000
Al 15,000
401 AlEHI LY 30,000 0 30,000
= 15,000
Al 15,000
01 AIZHI 30,000 0 30,000
OF&3= MEE FHEZ FHTHISA
30,000,0002 = 14| 30,000
= 15,000
Al 15,000
SN 2AAHI(GHED) (DIEHIIEH 85,440 98,058 A12,618
=3 85,440 98,058 A12,618
Jl=3| 85,440 98,058 12,618
201 Yer2g| 21,240 24,618 13,378
01 AF=2r2IHI 21,240 24,618 N3,378
OsAEI 2 16,0008 * 158tA = 12 2,880
OS204AH| 7,0002 * 64! » 158 « 12¢ 7,560
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S - R - SRIEH) - ARAY - BAS e G HIDE2
Otz 100,000& = 12 1,200
O4n8 EM-HI 50,000& » 12& 600
Oam2 =&l 8,100
—SADI(UE) ==t 1,000,000& * 1CH 1,000
—I2IE =2 100,000 * 4CH = 50/100 200
—=Z A EY 200,000& = 52| = 10H 1,000
—IOEIE(E) EH  200,0008 * 53| * 4CH 4,000
—OglE(Ze) EW 200,0002 » 53] = 1CH 1,000
—PC==2l 100,000& = 15CH * 20/100 300
—JIEt ==clbl 50,000& * 12& 600
OJIEF AFR2eld] 5,000& » 158 » 122 900
202 04l 59,400 68,040 28,640
01 2] 59,400 68,040 A8,640
O2ALHALI 20,0003 = 159 » 122 * 128 43,200
O22| 04| 90,000& » 15% = 12& 16,200
203 =&l 3,600 4,200 2600
04 FXN2EHRFALI 3,600 4,200 2600
ORKN=2Z 28| 300,000& = 12 3,600
204 [EaA| 1,200 1,200 0
01 MRS R+H| 1,200 1,200 0
O M2 248 | (51T E)
100,000& » 1&8 « 12 1,200
HWRES (o) (SSE MU /THHTY - 2124 388,712 0 388,712
LIS HeHXI=E 388,712 0 388,712
HERHcHXI= 388,712 0 388,712
701 JlEtRIHSEHES 388,712 0 388,712
01 JIEl=IHEES 388,712 0 388,712
OXI=AHSEEH & 388,712
—SHIZZAIH0 HE Al RE=2 388,712
e SsHAY SHM ot IHISA
250,000,000& * 14] 250,000
-JIEME SEHIA 15,000,000& * 14 15,000
Agotd == d& & UM
20,000,000 = 14 20,000
s =7 AES HAHA
10,000,000& = 14| 10,000
S ZTAl HRBE el2it] 93,712
¥Il2g 58,145,000& * 14 58,145
*¥2g 10,778,000& * 14] 10,778
KEEFOHI 12,933,000& * 14] 12,933
E=IIZ OIS 11,856,000 » 14] 11,856






